






















Consider a b a b

a tab ab b

a g

o the factorisation of a b is given by

a b a b a b

Examples

1 x 16 I I x a x a

2 x I x i acts x i

3 9
2
25 x 52 3 5 3 5

4 4h 942 2h5 345 24 31 24 34

Exercise

1 x2 81 5 9 x a x a

2 y 49 si 7 x 7 x 7

3 252 36 5 5 62 5 6 5 6

Difference of Two Squares



4 1005 9,2 og 3 7 105 3 10 3x

5 162 y ax yr axty 4x y

Solve

1 x 81 0 x 81 0

x 92 0 x 81

x 9 x 97 0
x

Either x 9 0
x 19

x 9

or x 9 0

x 9

Exercise Question Solve

4
2
9 0

2x 32 0 x2

2 3 2 3 0

Either 2

9

2x 3 x I
x I



22 3
x T Z


